Ax(BxC) = (A-C)B - (A'‘B)C ; Vx(VxF) = V(V'F) - V°F
Potentials: VxF=0iff F=Vy ;V-F=0if F=VxG
Grad: ,/°%y ‘dR = y(Q)-y(P)

Div: ff/v FdV= //.F-n dS

Curl: [/ VxF'ndS= [ FdR

v, all aiq.'
Py =565 v
3 1 Sy
V= 2% 5D g sy S * ey 3
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e’=cosh + jsind cosd =(e%e”y2 sind = (e-e”)2f
cosh0 = (e*+e*)2 sinhd =(e"e?}2 sind = jsinh0
cosf) = coshd cos’0 + sin"d = cosh™ - sinh?0 = |
sin(0£¢) = sinG cos¢ + cosO sing
cos(0+d) = cosd cosg = sind sing

sind + sing = 2 sinl4(0+4¢) cos¥:(0-4)
sind - sind = 2 cos'(6+4) sinlz(0-4)
cosO + cosd = 2 cos¥a(0+4) cosle(0-9) || Y

cosh - cosd = -2 sin(0+4) sinta(0-p)

sind sind = Ycos(0-4) - Yecos(B+d) . | ;
cosl) cosp = ’z‘icns(ﬂ-qa} + !ri::as{l]-l-q:}
Sind Cos} = Ysin(O-4) + %isin(6+8) Q !

sinh{D4$) = sinh@ coshé + coshd sinhd

cosh(fit+¢) = coshd coshg  sinhf sinh¢

(sin x)' = -(cos™ x)' = (1-x)™* (tan x)' = sec’x
jdx/(ax*+bx+c) = 2 (4ac-b?)™ tan™ (2ax+b)(4ac-b?)™
[dx/(ax*+bx+c)* = (-a)™ sin (2ax+b)(b*-4ac)™

tan' jx=fanh' x=%jin (1+x)/(1-x) a*=g'™

sin” jx = jsinh™ x = In [x+(x*+1)*] Jog,c = log,c / log,b
1{1-x) = 14x+x+.. e =1+x+R214x°31+...

sinx = x-x31+x°/5!-... cosx=1-x’/21+x"/4]-...

Y - [(2a-1)/xly’ + [bPcix®2+(a%n’c?)/xTy = 0; y=x¢J, (bx)




